

FY 2025-26 Fuel Purchase Order

City Council Meeting | December 9, 2025

Requested By: Finance and Fleet Department



Bulk Fuel Purchasing

Background

Utilizes the Tarrant County Interlocal Agreement Bid No. 2023.070 to purchase fuel Topic Hefrom Taadlinertan Oil currently

Tarrant County extended the agreement in April 2025 with the option of extending in April 2026

Pricing is variable but based on a set amount compared to the OPIS (Oil Price Information Service) Index Pricing

Tarrant County Contract vs retail:

- Unleaded Fuel is currently \$0.35/Gallon less
- Diesel Fuel is currently \$0.37/Gallon less

Historical Data

Fuel Price and Usage

This is the Historical Data showing recent fuel pricing and usage history.

- FY 2022/23 (Not utilizing a Fuel Contract)
 - UNL 98,023.55 Gallons @ \$2.84/Gallon = \$278,583.58
 - DSL 45,071.1 Gallons @ \$3.39/Gallon = \$152,984.57
- FY 2023/24- (Not utilizing a Fuel Contract)
 - UNL 122,882.26 Gallons @ \$2.70/Gallon = \$331,470.46
 - DSL 51,716.45 Gallons @ \$3.17/Gallon = \$164,189.43
- FY 2024/25 (Utilizing Tarrant County Contract)
 - UNL 89,126.9 Gallons @ \$2.27/Gallon = \$202,609.37
 - DSL 37,725.5 Gallons @ \$2.54/Gallon = \$95,709.97
 - * Justice Center Fuel site was being upgraded from April to August, during that time we purchased fuel from public fuel stations utilizing the WEX fuel cards.



Questions

